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A.O From 2.2.3.

table A.0.0

And I use 2.2.3 ag

table A.0.1

The following table g

at the cusps of fr(l

and the ?(m, n) of

9t,t, k) '= {

where S(i ,I , k) is gi

A: tables

cusps of fr(18) fall tnto sets

1a) - tFl, [3], [9]]

lu'= tDl, El, [e]]

lu,= tEl, [,t]]

{[b], [3],[3]]

x sum

in s3.4.

of theta product:; appearlng in S(l , J , k),

lo'= {['1J' F]' tr"]]

to

32)

flnd the cusps of fr(32). lfhey are:

=t[fl]:1<k<15,,kod,d]

=t[j.]:1<k<1z,kodd]
={L1],1.k<it,tocra}

1

,t''={[,|n]'[3J'k=1or3]
7, k odd)

15, k odd)

ves orders of the varlous s"(k), t"(k) and n(1), n(3) and 4(9)

. 1 also give lower bounds for the orders of the pn, thre €n

1A) -

k-Lr/72

1<k<

1<k<

;'*'= {[iJ, [iJ]

T', = {[,L],
?:', = {l_bl '



table A-O.2

s(1 )

s(2)

s(3)

s(4)

t(O)

c, lc" c^ | c- | vg I znl +rs ltzts lzna 15/18

1/+ ta 1/E 1/21 49/36 ?5/x 1/3lt +9n2 25/72 1n2

1/1 va 1/12 7/21 2rr$ 1/36 19f33 25/72 l/72 +9/72

1/a va 3/+ 3/S ll+ va ua va

u1 l/12 v21 V6 19136 25/8 tn2 19n2 25n2

o 1/g o ,/a 0 o o 9lA 9/8 9tg

t(1)

t1€)

t(3)

t(4)

o va 1f3 1/21 v9 1/tl 16/9 19n2 25n2 v72

0 va l/3 u21 1/9 6/9 1/9 25n2 1n2 +9n2

o ua o 3/A I va va l/8

o 1t3 l/2+ tr)/9 1/9 U9 1n2 a9/72 25/72

n(1) 3/1 r/a l/1 !a 1/t2 7/2+

n(3)

n(9)

Drk

ry
€.k

fli,i,k)

v1 va tl+ 3/A 1/+ l/8

ve l/21 r/1 va :t/1 3/A

- 9/1 - 9/l - 1/12 - 1n+

::
- 1./35 - 1n2

o o o o o - 2f3

I -'t/12

:>

- 1/'36 tn2

- t/1 - t/12
-19/72



And the next ta

and for the a(l

table A-O'3

ble does t

,1, rc) (aet

UAc all

same for the varlous

d tn the same waY a

7/6

unctions aPPearing in g3'2

trre f,i'tt, t, k))'

7 /32
15/32

1/6

t2

9/8

1^\ g/a s/8 va 1/8 9/8

s(2)

s(4)

- s(6)

s(8)

t( 1)

l/a 1/2 o 't/2 l/2 | c/1 lt1 1/+ 9/+ | 9/8

lttz r/2 1/2 u2 112 v2

1/1 112 I 0 I t t I 1t2

va

o

$/a va TA 9/8 9/8 ila

1f+ 112 o lt1 't/? 9/1 9/1 1/+

o o o o o o o

1/1 l/z 2 o o o o

25n Qt/32 1/32 1f72 9r32 25/p 19/}2

0 t2 1/+ E/8 ,t/6 9/ft 25/fi

lt16

+9/6 +eAi

?5/$ 25/i9

9/'t2

l/c2 +s/32 9r32 9/32 $r*. 1/32 25r32

r/O\ o 112 l/L 9/ va 9/la 19/18

t(5)

t(7)

n(1)

n(a)

+g/12 1/!2 25/72 25/32 r/'p +9/32 c/'32

o r/2 1/E 25/16 1/{t +9/16 9/1r'

c/:t2 25/32 +9/32 19/32 25/32 9/32 l/32

0 l/2 l/+ 8 9/a +9/16 2s/ 16 9/16 1/lf) t/32

2/3

- 1196

r12

113

1ri 2f3 1n 1/6

1f3 2/3 113 2/1

n(16)

?u

f*(m, n)

lf,(t,!,k)

rl12 1,16 2/',3 +/3

- 16/3 - 1/6 - v12 _,7,t | -,i*

o o o 0 -vz

-25/6
- 1r3 - 1/6 1/1 - 1/24



A.1 [n this section'

establish the t'heorerns

table A-1.O

N(3,9,3n)
= N(4,9

= M(4,

N(l,9
N(2,9

N(3,9

N(4, 9

M(2,9

M(3,9
N(0, 9, 3n

= N((4 ,9
= M(3,9

I $tve the

"f $5s.t,

values of N(r, m ' n)

3.2 and 3'3'

and M(r 
" 
m , n) needed to

n It 2 3 4

1 3 8)

),3n)
, 9, 3n)

,3n+1)
,,3n+1)

.3, + 1)

oo

11
0 1 1 5

4 11
0 0 2

5 L2
o 1 2

I 4 10
),3n+1) -
),3n+1) 

_

9,3n+1)
11t + 2\

9,3n+2)
9.31+ 2)

o 0

o 1 2 5 L2

4 10
0 o I

15
o 1 2 6



table A-1.1

o 1
4

2 8 26N(2,8,4n)
= N(4,8,4n)

= M(3 ,8,4n)
N(3,8, 4n)

- M(2,8,4n)

*,0, g, 4n + 1)

N(1,8, 4*r + 1)

*,r, t,4n + 1)

N(3,8,4n + 1)

*,n,9,4n+1)
M(O,8,4n + 1)

M(1 A zln+l)

EF;
'';F;

':{

o o

3 11 31

41

35

39

34

o 1

I 1 6 15

o I 3 11

o 1 4 L4,

0 0 3 11

4 14r 40
0 2

11. 33-I 1 2

1l 1 5 111 4:L

M(2,8,4n +1)

M(3,8,4n + 1)-

N(0,8,4n+21
= N((2 ,8,4n + 2)

= M(l ,8,h* il
N(1,8,4n+21

= M(2,S,a"*?
N(0, 8, 4n + 3)

N(l,8, 4n + 3)

N(2,8,4n +3)

N(3^ 8.4n +3)

0 0 3 11. 34

o 2 5 1!t 40

15 45

52

0 1 4

I 2 7 19

1
e 8 tz4 66

0 1 6 lZO 57

1
e 9

"25

66

0 1 5 19 57

*,n,3,4n+3)
M(l,8,4n+9)

M(2,8,4n +3)

M(3,8,4n +3)

M(4,8,4n +3)

o 2 8 24 64

0 3 8 24 65

0 I 6 20 57

I 2 8 24 65

0 2 6 20 58



table A.1.2

N(2,12

N(5,12

N(1,12

N(.1 , 12

(Noti.. h,

course, lll

N(1, 12,2

[Andl, 5

on trt2t3 4 5 6 7 8 9 o

,2n)

,2n) 0 0 0 1 2 3 6 11 18 32 52

,2n+L)
',,Z.n+L 0 0 1 1 3 5 8 15 26 41 67

how the secc

lllusory slnce

2n + 1) ls, pr

5r.21)

d row curiously resembles the Flbonaccl serles' Thls

he Fibonilccl numbers lncrease u' (tt * lsl?)^' whe

rumably, rnore or less p(2n +Ll/12 * exp(2n'l1rr.n))ta

ls ls, of

herelas

/48n13


